= b 2 % 3% ¥ 4% LIRS %64 ENES
1 2 YBM 3 I~ 4 4 Dragonitd 5 22z %] 6 #iF 7T 2 8 Mm% 9 Cyclops |10 #4 kpHEll 2 2m |12 B iz 13 No Trump| 14 Catchall
2 3 I 24 2 YBM b BE2Z 4 Dragonit{ 7 % i 6 iE 9 Cyclops | 8 #c*% 11 2772410 4 £4#{13 No Trump| 12 % i= 14 Catchall
3 4 Dragonitd 2 YBM 6 #iE 3 I 4 Tz b BEZ 9 Cyclops | 8 #c*% 13 No Trump|10 4 kigE {12 & i= 11 2 7 247 |14 Catchall
4 b BEzZ2Z %] 2 YBM Tz 3 T4 8 % 4 Dragonit{ 9 Cyclops [ 6 & 11 224,12 B i 13 No Trump|10 4 k4% {14 Catchall
5 6 iE 2 YBM 8 Mm% 3 I 4 10 #4 k4% 4 Dragonitd 12 % i= b BRZpIl 22| T 23 13 No Trump| 9 Cyclops |14 Catchall
6 7 i 2 YBM 9 Cyclops | 3 T =« 11 27245 4 Dragonitd 10 4 k#F{5 L2z 7]12 B iz 6 iE 13 No Trump| 8 &% 14 Catchall
7 8 % 2 YBM 10 43 7= 4 9 Cyclops | 4 Dragonitdll 4 24| 5 222 7|13 No Trump| 6 & 12 ® iz [ 14 Catchall
8 9 Cyclops | 2 YBM 11 27724»|3 7~ 4 b B F2 4 Dragonitq13 No Trump| 8 &% 10 AR FE|T 2/ 12 & = 6 iE 14 Catchall
9 10 4 k4] 2 YBM 12 B = 3 I~ 4 13 No Trump| 4 Dragonitd 8 g% 6 iE Tz 9 Cyclops [11 2 ) 24| 5 22z %J14 Catchall
10 11 2724 2 YBM 13 No Trump| 3 T = * 6 iE b BB R] 8 % 7T 10 4 %% 9 Cyclops |12 R iz 4 Dragonitqd 14 Catchall
11 12 % = 2 YBM 4 Dragonit{ 3 I = * 14 Catchall| 5 22z 7J10 A XEFE{16 1 8 Mm% T 2 9 Cyclops |11 2 72 47|13 No Trump
12 13 No Trump| 2 YBM 14 Catchall| 3 7 = % 12 & = 4 Dragonitd 6 & b BEBZRIT Z2H 8 % 9 Cyclops |10 # Xk#pHF {1l £ 24
13 14 Catchall| 2 YBM 3 I~ 4 4 Dragonitd b 222 )6 F 10 4 kpFE]T 28 11 27 24m| 8 % 12 & = 9 Cyclops |13 No Trump




